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OnucaHue Cp(T), npumep: NaOH-3.5H,0
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DHMasnbnuu o0bpda3oedHUA 2UuOPAMOS. 1D

NaOH(s) + AH,O(l) = NaOH-AH,O(ph)

0 s 0 0

1 s 23091 34.84
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4 / 36196 25.43

5 / 39510 27.95

7 / 42572 27.52

J, mol, K, npn 298.15 K
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OnucaHue Cp(T), NaOH 1D
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Pacmeop NaOH-H,O 1D

 Mopgenb Knerra
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gF = f(PAR, x,) = —7xln(1 + pIy°)A, + Zg(azgﬁ)BMX
—x5W1mx + x1x5U1 mx + x3x5V 1 yx
nq 27’12

X4 = Xy = I, =x,/2
1 ny + 2n, 2 ni + 2n, x 2/

g(y) =2[1 - (1 +y)exp(=y)]/y°

 AccuMeTpunyHasa HOpMUPOBKaA
e PacyeT Ha 1 Monb yactumy, (n;+2n,=1)
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AKkmusHocmu u 3/4C 1D

Dibrov-1964a aw T =573.15 K P = Psat MPa
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Kaxcywueca ee/1uvuHbl

Krey-1972 Vphi T =623.15 K P =16.5308 MPa
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Bertetti-1936a Cphi T =344.26 K P =0.1 MPa
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PasHosecue muoKocmos-maepooe
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Cnacubo 3a sHumaHue!
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